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What

I2I

happens rvhen :

DD-2706

(i) Phenoi reacts with chloroform in presence of
alkali"

(ii) Ether reacts with HCl.

ln presence

(q) ffitur gfiftqni tn1 ffift r+rrsrri (o){ q}) ,

3

(i) fiq-t-Aqn sTftfuqr

(iil riTe1q1q TIrdS"l

(iii) mr-{-s 5ctr--ql{I
Explain the mechanism of the following reactions
(arry lwr:) :

(i) Rieiner- Iiemann reaction

iii) Gattermannsynthesis

(iii) Fries rearrangement

oFlril

(or)
({'r) fi-d-{r-{kc $ qqRifuil o1 oTrq o\ flcr znht ? Z

(i) qhffiI
(ii) {i-{f,}fu,sfi-q

I{ow rvili you obtain the following contpounds from

glycerol ?

(i) Acrolein

(ii) l..lltroglvcerine

O $w ,fi q'r", t-i?SO4 fi {T},; cli ii]o} i{.r\'-'rd,".ri

., rc_sTgq 
I

' [3] DD_2206

Explain the reaction of ether wiilr concentrated
H2SO4.

(qT) ffi-m Efi o{yE.tfr-an orri d iilv d.+ fi*
sTftArqT fhfuq t 

2

Write down the reaction of gtycerol with oxalic acid.

for$-e
(uNrT_2)

z. (or) Pq*Tfufu-d s{ftfuqrc,t of ftqTAft Hfrd EqsrE\
(d{ q) 

'(i) qfb? odttuqT

(ii) dM orfufuqr

(iii) TcG)d irsi-{
Explai, the folrowing reactions with their
rnechanism (any n+o):
(i) Perkin's reacrion
(ii) Cannizzaro reaction

(iii) Aldol condensation

(e) qT{fugrtrs, tifrtFsEtr-{s \-E *dn-.s-dTqB at
qTtfto ffidnT of qq-sT{q I 3

dxplain the relative reactivity of trmaldehyde,
acetaldehyde and benzaldehyde,

qerql

(or)
(q) d-qkq sT{-{ Eqr t ? ffifu q.kd q-{s.Eq r s

What is benzoin condensation ? Explain rvith
rnechanism.
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following from acetyl

(ii) qfffu-dTrs

B'r

What happens rvhen :

(r rr) sp'

Tollen's reagent.

ammonla

ffitur
(or) frqfuturr q-q fcqfufi fttus : 3

(A-64)
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(rr) > c: o rr{6' d ar4q a1 E-6-wT erq*qr t :

t5l

(iii) Acetamide

(E) frqfufud erftDrqrcii

COOH

oi Wf otffi : 4
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their

(i) tfld-d ,)fd"rTr{s slitfrqT

(ii) oEtrq' sTftfuqT

I{ow will you obtain primary amine from the

foliowing reactions ?

(i) Gabriel's ptrthalimide reaction

(ii) Curtius reaction

(q) Fmfufu'n o1 ftqffi fufuq " 4

(i)qlEEtld.T E I 3{q"{q"i

(ii) ffio era

Write notes on the following :

(i) tleduction of nitrobenzene

(ii) Picric acid

(A-64)

I7I
qsrsl

Do-zzoo

(uNrT-s)

(q) Frrfrfuf, C sqsrcr : 3

(i) frft-s-{ dfr-{ hl orten r&"r{).FT{n d s"fu 6q
fm-qivha -t r

(ii) q{t{ fr cfu{a{q-{ -- 2 n?lT - 5 T{,T + qs *
df,TBr?rd?

(iii) '.en"qld-{' of er5q.6 q-{rlql ftfoq I

Explain the following :

(i) Pyridine is less reactive than benzene towards

electrophiles.

(ii) Substitution occurs in furan at pr:sition --2 and

*5.',Why ?

(iii) Give resorrating strr.icl.ilre til'"ilhir,::hi:t'"r'"

i,t; iMd)n $ qygqn .fi dq '# l-ttii 1,;.r1+ifr! I l
Explain Skrau1:'s syl;li-.csis ;i,liiint,i*l'',-

" {4-64}

mechanism

(ii)

(q) ffitun
EFt) ?
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